## S C H E D U L E

BY-LAW NO. 727(1981)

# METES AND BOUNDS DESCRIPTION PELHAM WATER AREA NO. 3

COMMENCING at the point of intersection of the south limit of the Toronto-Hamilton-Buffalo Railway right of-way and the east limit of Church Street;

THENCE south easterly along the south and west limit of the Toronto-Hamilton-Buffalo Railway right-of-way to a line drawn parallel to and perpendicularly distant 122 metres from the south side of Foss Road;

THENCE westerly along the said line to the west limit of lands owned by Jack Rosinski, otherwise known as Municipal Roll Number 18-49;

THENCE northerly along the said west property line to a line drawn parallel to and perpendicularly distant 45.75 metres from the south limit of Foss Road;

THENCE westerly along said line to the west limit of Church Street;

THENCE southerly along the west limit of Church Street to a line drawn parallel and perpendicularly 86.9 metres distant from the south limit of Foss Road;

THENCE westerly along the said line to the line between Former Township of Pelham Lots 16 and 17;

THENCE northerly along the said line to a point 122 metres north of the north limit of Foss Road;

THENCE easterly along a line drawn parallel to and perpendicularly distant 122 metres to the north limit of Foss Road to a line drawn parallel and perpendicularly 122 metres distant from the east limit of Church Street;

THENCE northerly along the said parallel line to the south limit of the Toronto-Hamilton-Buffalo Railway right-of-way;

THENCE south easterly along the south and west limit of the Toronto-Hamilton-Buffalo Railway right of way to the point of commencement.

## S C H E D U L E

"В"

BY-LAW NO. 727(1981)

#### WATERMAINS AND APPURTENANCES TO BE CONSTRUCTED AS FOLLOWS:

Street

From

To

Church Street

Toronto-Hamilton-Buffalo

Foss Road

Railway Right-of-Way

Foss Road

West Limit of Lot 16,

Toronto-Hamilton-

Buffalo Railway

Right-of-Way

Concession 10

### SCHEDULE

" C "

to

#### BY-LAW NO. 727(1981)

#### ESTIMATED COST OF WORK

## Construction -

150 mm watermaîn 436 metres at \$59,04 per metre	\$25,740.00
CPR Crossing	2,000.00
75 mm watermain 564 metres at \$32.80 per metre	18,500.00
65 mm watermaîn 274 metres at \$33.21 per metre	9,100.00
50 mm watermains 290 metres at \$26.20 per metre	7,600.00
1 Valve at \$350.00 each	350.00
1 Valve at \$200.00 each	200.00
2 Valves at \$180.00 each	360.00
1 Valve at \$170.00 each	170.00
1 Hydrant at \$1,500.00 each	1,500.00
2 Blow-offs at \$1,000.00 each	2,000.00
37 Services at \$400.00 each	14,800.00
Engineering	8,680.00
Contingencies	8,200.00
TOTAL ESTIMATED CONSTRUCTION COST	\$99,200.00

